B KEFELZFN\RT Y R—ILETF
JIL—T)—FG 2RYE

ERZ

e | IEAL = b1 BMEX |82 X | £EBHX]| B |Bba| B
2 1 BEXE 1-0 2
BELF
1 2 Joo 1-1 3
ER B ®
43-71
B a2 EfEX |BEMKX|EREZX| B [Hoa| B = b2 XHK |RIEERKX| BBRX | B |Bea | IEAL
o @)
BEKE 0-1 1 XHKE 1-0 2
61-80 79-54
wen | O ) ——— )
K 2-0 | 4 ER A 02 2
80-61 - 54-79
HRLZF _ o, _
B a3 B\|HBK | FASEKR | BMEK | BFER [Bsb A | IEAL B b3 EEX | HEX |fFERrX| BE |Bea | JIEAL
BinKE 2 FEXE 1
BREER IR 3 BHE K= 3
Bl A 1 oend 2
mad |MEXRX|EGIA|ZHIK| B (Bba| IBA B b4 |#z)K| TESK |[SNEE R | s m | IEfL
BB S H B piE=JNI B
Jo 1-0 2 o 1-0 2
RE™AL TiEF
K -1 3 Fo 1-0| 2
ZHIE HESEE

ERRZRFNRTyMR—ILER

4F28H(H)IRE




JIL—T)—FG 2RYE

B KELZFNARTYR—)LES

FHEAR

Vadasw
53 03|8

Bl |=mmaEk| $Ex (HEEax| B (BHA| B
R E _

e 1-0| 2
e _

ks 1-1 3
BERY _

Ko 0-1] 1

B2 |#Emx| B8k | BRA | BK |Bboa | B
RS _

Ko 0-1] 1
BEVKE _

- 2-0| 4
R _

S 0-1] 1

B3 B (BB e | B
FEXZF 1-0| 2
eSS B

o 1-1 3
ERDIK _

TFK=EF 0-1 0

B4 | =8k |txrax| mak | B | BoA| B
g KF 1-0| 2
+XFHE

TFKRF =13
K 0-1 1

M d1 EBRX | £®X | BBEX | B®R |Boa| JBA
EFRE 9

PN

FRXF 3
HEKXF 1

Bd2 | ZWK | BWK |BALK| BB |Bsba| B
/3PN 1-0| 2
DR N 0-2| 2
BAZF B

o 1-0| 2

Bd3 | 5FEXK | REKX |B0&X| B |BbA| B
BHEKE 2
RRRE 3

PN
ELXF :

PN

B d4 |mEeEK| BEX (EREX| MK |BbA| IEAE
ﬁﬁ.ﬁld:jﬁ _

Ko 1-0| 2
WEKRZFE 1-1 3
MR ZF B

K 0-1] 1

ERRZRFNRTyMR—ILER

4F28H(H)IRE




